ECLT5820 – Distributed and Mobile Systems 
Topic 4-1: Name Service – Navigation Options
Referring to navigation in name service, we know that there are iterative navigation, multicast navigation, and server-controlled navigation:
(1) Explain why iterative navigation is necessary in a name service in which different name spaces are partially integrated, such as the file naming scheme provided by NFS.
The reason why iterative navigation is necessary is that when a client encounters a symbolic link, then this symbolic link should be resolved with respect to the client’s name space, even when the server stores the link.

(2) Describe the problem of unbound names (i.e., no server can resolve the names) in multicast navigation.  What is implied by the installation of a server for responding to lookups of unbound names?
In multicast navigation, a client multicasts a name to a group of servers for resolution.  If a server can resolve the name, it replies to the client. To minimize messages, a server that cannot resolve the name does not respond. However if no server can resolve the name – the name is unbound – then the client will be greeted with silence.

(3) A DNS client may choose recursive server-controlled navigation rather than iterative navigation or non-recursive server-controlled navigation to reduce bottleneck.  Explain why concurrency within a name server should be explored, and how.
A server that performs recursive navigation must await a reply from another server before replying to the client. If concurrency within a name server is not explored, clients will be unduly held up. Two concurrency schemes can be explored:

(a) It is preferable for a server to deal with several outstanding client requests at the same time rather than holding off other requests until each one is completed, 

(b) The server will, in general, refer resolution to several other servers rather than just one, so client requests will be satisfied in parallel to some extent.

